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(and 2x_ 3x dx 5x 8x. 10x from previous years)
Counting in multiples of & ‘ | [ 11 | |
0,6 12,18, 24, 30, 35, 42 ... A 2 | M S X & 7 9 11 12
] 35
- P The numbers balow Tha numbers abova - 1o
Counfing in multiples of 7 half way all ROUND half way all ROUMD L
0,7.14,21,38, 35, 42, 49... DOWN ta 30 UP to 40 L 1 & 7 9 11 12
Countfing in multiples of 9 Th_z ;linjb&:n the : :
i 15 W
0,9, 18, 27, 34, 45, 54, 63 ... and RUUMDSI.IFI-:LEI : i_ 2 12 14 18 22 24
Counfing in multiples of 25 — 1
0, 25, 50, 75, 100, 125, 150... Rounding to 100 and 1000 follows the L 2 3 s | 21| 27| 33| 3
same rule. L
Counting in multiples of 1000 350 rounds up to 400 -0
0, 1000, 2000, 3000, 4000... 3500 rounds up to 4000 i ; 4 24 28 34 44 48
el L
CGUTﬁHQ up and down in Rounding decimal places also follows C
redths the same rule. . § | 30 | 35 | 45 | 55 | &0
1 2 3 4 21 3.4 rounds fo 3.0 but 3.5 rounds to 4.0 [«
100" 100" 100 100 7 1p0° | 7
g?g rounds to 3.00 but 3.05 rounds to C 4 14 49 54 46 79
A thousand more than 4753 is : -
5753, L .o ¥
A thousand less than 4753 is 7 42 | 49 | &3 | 77 | B4
3753,
- 8 | 48 | 56 | 72 | 88 | 94
Formal methods of short 1=1 10=X A;?':f;f;‘ézs
multiplication and division 2=11 20 = XX ﬁ_l ot when 9 54 | 43| 81 | 99 | 108
351 x 7 becomes 91+ 7 becomes i i :E.:' E i i‘fx mulfiplied will
= = result in a given 0| s | 70 | 90 | 110|120
Xx[300 T10 [5 13 5=V S0=L product.
= 6=VI 60 = LX .
7127001701351 7 | a1 7 — VI 70 = LXX ';gﬂ’fﬂfpﬂlfmf 1| e | 77| 99 [121 | 132
are
—£9.4100 8 = VIII 80 =LXXX ||| 1¢
Torahk 2100« M+ 5=210% a1 £3}I] 1;:]_]{ ;'D:}':_{: 2,8 I: :"2 E“ IDE ]3? ]-"—1-4
100=C 4,4
r
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Digital and analogue clocks + The area of this shape —— EQUALS —= the area of these two
L hzem [_Jt2em
—
dcm dcm Tem
v - —
Both clocks show it is 10 o'clack. But only fhe 1 line of symmetry 3 ines of syrmetry & cm Gem
digital clock shawws that it s pmi [in the - _
avaning| bacausea it is vsing 24 hour fime. 4 - * 4 The area of this shape = l:;;}{ il * :2 X 3]
=34+
- =42 cm?
2D Shapes - -
Rhombus Trapezium - Place value
[or trapezoid) I3 Eaeh row divides by Tens Ones - tenths hundredths
4 lines of symmeatry  Infinite number of ings of "
SYITIMETyY
45 4 5 * 8] 8]
1 _ 45 _
Al four sides ane the Twio soes ore paralel. 45= 4; - 4; 0 4 - 5 0
same length, lke o Sicke e cnc 40 _ 20 10 5 1 g 40_ 0.5
P S w2 w2 P - 0.45=2 0 0 . 4 5
Coordinates
2]
D . 7 )
-5 = X axis comes This shape
. first, 50 & A has been .
-4 ; 5 franslated
— up and left Equilateral Triargie Rigiht Triangle soscehes Tlanghe
=3 A= [D,E] 4 tl'!,l'
oda E B=(1.0) 3 D .3, -3
o i C=(24) [Taken away
_ D = [5.5) 2 from each
P I E=(4.2) 1 co- i =
/ i B 9 3 4 5 cordinate.) Scalene Triangle #cube Thangle
(172 1 A o 1 2 345 47 8




